
1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

Drawn Date

Drawing No.

Sheet    of

Nevco, Inc.
 Greenville, Illinois 62246

Rev

Last ECO

Four Face Installation
Upper and Lower

Sections
Standard Scoreboards

BRS 1       15 6/23/2015

--

Dwg-0748

Notes:
1.  Connections to ceiling including shackles, cable or
     chain, anchors, etc. are furnished by and the
     responsibility of the others.
2.  Corner trim removed for clarity.
3.  Weights shown do not include bottom for four face.
4.  Weights shown do not include connections to ceiling
     (shackles, chain or wire rope, power winch, etc.)

Important Note:
This is not an engineered drawing.  It is intended for representation purposes
only.  Nevco strongly suggests that you contact a professional engineer or architect
familiar with the facility before the installation is attempted.  They can determine
if the building framework is capable of withstanding the additional forces that result
from hanging a structure such as this.  In addition, they will be able to verify that the
bolts, framework, etc. are suitable for your particular installation.  This includes, but 
is not limited to speakers, lights, camera systems, etc.

Estimated Weights and Pick Points for Scoreboards

Model Number Size of Scoreboard Dimension "A" Dimension "B" Estimated Weight

2700, 4755 3 x 8 97 5/16" 97 5/16" 722

2710 5 x 8 97 5/16" 97 5/16" 930

2750, 2770, 4710, 
4750, 4711

6 x 8 97 5/16" 97 5/16" 1054

8203, 8204 6 x 8 97 5/16" 97 5/16" 1850
8204, 8404 7 x 8 97 5/16" 97 5/16" 2350

2702 3 x 10 121 1/8" 121 1/8" 845

2712 5 x 10 121 1/8" 121 1/8" 1073

2752, 2772 6 x 10 121 1/8" 121 1/8" 1167

4770 5 x 12 145 1/8" 145 1/8" 1308

See note 1

Pick Points

Dim "A"

Dim "B"



Size of 

Scoreboard

Lower Cabinet 

Size
Dim "C"

Upper 

Cabinet Size
Dim "D" Dim "E" Dim "F"

Lower Frame/Trim 

Weight

Upper Frame/Trim 

Weight

3' x 8' n/a n/a 1' 9½" 40" 131¼" n/a 90

3' x 8' n/a n/a 2' 21½" 40" 131¼" n/a 364

3' x 8' n/a n/a 3' 33½" 40" 131¼" n/a 380

3' x 8' 1' 12 7/8" n/a n/a 40" 131¼" 346 n/a

3' x 8' 1' 12 7/8" 1' 9½" 40" 131¼" 346 90

3' x 8' 1' 12 7/8" 2' 21½" 40" 131¼" 346 364

3' x 8' 1' 12 7/8" 3' 33½" 40" 131¼" 346 380

3' x 8' 2' 24 7/8" n/a n/a 40" 131¼" 350 n/a

3' x 8' 2' 24 7/8" 1' 9½" 40" 131¼" 350 90

3' x 8' 2' 24 7/8" 2' 21½" 40" 131¼" 350 364

3' x 8' 2' 24 7/8" 3' 33½" 40" 131¼" 350 380

3' x 8' 3' 36 7/8" n/a n/a 40" 131¼" 354 n/a

3' x 8' 3' 36 7/8" 1' 9½" 40" 131¼" 354 90

3' x 8' 3' 36 7/8" 2' 21½" 40" 131¼" 354 364

3' x 8' 3' 36 7/8" 3' 33½" 40" 131¼" 354 380

5' x 8' n/a n/a 1' 8¼" 64" 140" n/a 95

5' x 8' n/a n/a 2' 20¼" 64" 140" n/a 374

5' x 8' n/a n/a 3' 32¼" 64" 140" n/a 390

5' x 8' 1' 12 7/8" n/a n/a 64" 140" 346 n/a

5' x 8' 1' 12 7/8" 1' 8¼" 64" 140" 346 95

5' x 8' 1' 12 7/8" 2' 20¼" 64" 140" 346 374

5' x 8' 1' 12 7/8" 3' 32¼" 64" 140" 346 390

5' x 8' 2' 24 7/8" n/a n/a 64" 140" 350 n/a

5' x 8' 2' 24 7/8" 1' 8¼" 64" 140" 350 95

5' x 8' 2' 24 7/8" 2' 20¼" 64" 140" 350 374

5' x 8' 2' 24 7/8" 3' 32¼" 64" 140" 350 390

5' x 8' 3' 36 7/8" n/a n/a 64" 140" 354 n/a

5' x 8' 3' 36 7/8" 1' 8¼" 64" 140" 354 95

5' x 8' 3' 36 7/8" 2' 20¼" 64" 140" 354 374

5' x 8' 3' 36 7/8" 3' 32¼" 64" 140" 354 390

6' x 8' n/a n/a 1' 10¼" 73¼" 145 1/8" n/a 100

6' x 8' n/a n/a 2' 22¼" 73¼" 145 1/8" n/a 380

6' x 8' n/a n/a 3' 34¼" 73¼" 145 1/8" n/a 396

6' x 8' 1' 12 7/8" n/a n/a 73¼" 145 1/8" 346 n/a

6' x 8' 1' 12 7/8" 1' 10¼" 73¼" 145 1/8" 346 100

6' x 8' 1' 12 7/8" 2' 22¼" 73¼" 145 1/8" 346 380

6' x 8' 1' 12 7/8" 3' 34¼" 73¼" 145 1/8" 346 396

6' x 8' 2' 24 7/8" n/a n/a 73¼" 145 1/8" 350 n/a

6' x 8' 2' 24 7/8" 1' 10¼" 73¼" 145 1/8" 350 100

6' x 8' 2' 24 7/8" 2' 22¼" 73¼" 145 1/8" 350 380

6' x 8' 2' 24 7/8" 3' 34¼" 73¼" 145 1/8" 350 396

6' x 8' 3' 36 7/8" n/a n/a 73¼" 145 1/8" 354 n/a

6' x 8' 3' 36 7/8" 1' 10¼" 73¼" 145 1/8" 354 100

6' x 8' 3' 36 7/8" 2' 22¼" 73¼" 145 1/8" 354 380

6' x 8' 3' 36 7/8" 3' 34¼" 73¼" 145 1/8" 354 396

8' Four Face

1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

Drawn Date

Drawing No.

Sheet    of

Nevco, Inc.
 Greenville, Illinois 62246

Rev

Last ECO

Notes:
1.  Dimension "C" does not include rubber feet 
     (adds approximately 2¼")
2.  Dimensions shown may vary slightly due to 
     assembly variation.
3.  Corner trim removed for clarity.
4.  Add weights for signs or message centers to
     above frame/trim weight for total weights.
5.  Weight of center section found on sheet 1

Dim "F"

Dim "D"

Dim "E"

Dim "C"

119 in

BRS 6/23/2015 2      
15 

Dwg-0748

Four Face Installation
Upper and Lower

Sections
Standard Scoreboards



Size of 

Scoreboard

Lower Cabinet 

Size
Dim "C"

Upper Cabinet 

Size
Dim "D" Dim "E" Dim "F"

Lower Frame/Trim 

Weight

Upper Frame/Trim 

Weight

3' x 10' n/a n/a 1' 10½" 40" 155¼" n/a 90

3' x 10' n/a n/a 2' 22½" 40" 155¼" n/a 367

3' x 10' n/a n/a 3' 34½" 40" 155¼" n/a 395

3' x 10' 1' 12¾" n/a n/a 40" 155¼" 396 n/a

3' x 10' 1' 12¾" 1' 10½" 40" 155¼" 396 90

3' x 10' 1' 12¾" 2' 22½" 40" 155¼" 396 367

3' x 10' 1' 12¾" 3' 34½" 40" 155¼" 396 395

3' x 10' 2' 24¾" n/a n/a 40" 155¼" 400 n/a

3' x 10' 2' 24¾" 1' 10½" 40" 155¼" 400 90

3' x 10' 2' 24¾" 2' 22½" 40" 155¼" 400 367

3' x 10' 2' 24¾" 3' 34½" 40" 155¼" 400 395

3' x 10' 3' 36¾" n/a n/a 40" 155¼" 405 n/a

3' x 10' 3' 36¾" 1' 10½" 40" 155¼" 405 90

3' x 10' 3' 36¾" 2' 22½" 40" 155¼" 405 367

3' x 10' 3' 36¾" 3' 34½" 40" 155¼" 405 395

5' x 10' n/a n/a 1' 10½" 64" 164¼" n/a 95

5' x 10' n/a n/a 2' 22½" 64" 164¼" n/a 366

5' x 10' n/a n/a 3' 34½" 64" 164¼" n/a 394

5' x 10' 1' 12¾" n/a n/a 64" 164¼" 396 n/a

5' x 10' 1' 12¾" 1' 10½" 64" 164¼" 396 95

5' x 10' 1' 12¾" 2' 22½" 64" 164¼" 396 366

5' x 10' 1' 12¾" 3' 34½" 64" 164¼" 396 394

5' x 10' 2' 24¾" n/a n/a 64" 164¼" 400 n/a

5' x 10' 2' 24¾" 1' 10½" 64" 164¼" 400 95

5' x 10' 2' 24¾" 2' 22½" 64" 164¼" 400 366

5' x 10' 2' 24¾" 3' 34½" 64" 164¼" 400 394

5' x 10' 3' 36¾" n/a n/a 64" 164¼" 405 n/a

5' x 10' 3' 36¾" 1' 10½" 64" 164¼" 405 95

5' x 10' 3' 36¾" 2' 22½" 64" 164¼" 405 366

5' x 10' 3' 36¾" 3' 34½" 64" 164¼" 405 394

6' x 10' n/a n/a 1' 10½" 73" 169" n/a 100

6' x 10' n/a n/a 2' 22½" 73" 169" n/a 372

6' x 10' n/a n/a 3' 34½" 73" 169" n/a 400

6' x 10' 1' 12¾" n/a n/a 73" 169" 396 n/a

6' x 10' 1' 12¾" 1' 10½" 73" 169" 396 100

6' x 10' 1' 12¾" 2' 22½" 73" 169" 396 372

6' x 10' 1' 12¾" 3' 34½" 73" 169" 396 400

6' x 10' 2' 24¾" n/a n/a 73" 169" 400 n/a

6' x 10' 2' 24¾" 1' 10½" 73" 169" 400 100

6' x 10' 2' 24¾" 2' 22½" 73" 169" 400 372

6' x 10' 2' 24¾" 3' 34½" 73" 169" 400 400

6' x 10' 3' 36¾" n/a n/a 73" 169" 405 n/a

6' x 10' 3' 36¾" 1' 10½" 73" 169" 405 100

6' x 10' 3' 36¾" 2' 22½" 73" 169" 405 372

6' x 10' 3' 36¾" 3' 34½" 73" 169" 405 400

10' Four Face

1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

Drawn Date

Drawing No.

Sheet    of

Nevco, Inc.
 Greenville, Illinois 62246

Rev

Last ECO

Four Face Installation
Upper and Lower

Sections
Standard Scoreboards

BRS 6/23/2015 3     
15 

Dwg-0748

Notes:
1.  Dimension "C" does not include rubber feet 
     (adds approximately 2¼")
2.  Dimensions shown may vary slightly due to 
     assembly variation.
3.  Corner trim removed for clarity.
4.  Add weights for signs or message centers to
     above frame/trim weight for total weights.
5.  Weight of center section found on sheet 1

1421
4 in

Dim "F"

Dim "C"

Dim "E"

Dim "D"



Size of 

Scoreboard

Lower Cabinet 

Size
Dim "C"

Upper Cabinet 

Size
Dim "D" Dim "E" Dim "F"

Lower Frame/Trim 

Weight

Upper Frame/Trim 

Weight

5' x 12' n/a n/a 1' 9¾" 63 5/8" 189" n/a 95

5' x 12' n/a n/a 2' 21¾" 63 5/8" 189" n/a 399

5' x 12' n/a n/a 3' 33¾ 63 5/8" 189" n/a 408

5' x 12' 1' 12½" n/a n/a 63 5/8" 189" 418 n/a

5' x 12' 1' 12½" 1' 9¾" 63 5/8" 189" 418 95

5' x 12' 1' 12½" 2' 21¾" 63 5/8" 189" 418 399

5' x 12' 1' 12½" 3' 33¾ 63 5/8" 189" 418 408

5' x 12' 2' 24½" n/a n/a 63 5/8" 189" 422 n/a

5' x 12' 2' 24½" 1' 9¾" 63 5/8" 189" 422 95

5' x 12' 2' 24½" 2' 21¾" 63 5/8" 189" 422 399

5' x 12' 2' 24½" 3' 33¾ 63 5/8" 189" 422 408

5' x 12' 3' 36½" n/a n/a 63 5/8" 189" 426 n/a

5' x 12' 3' 36½" 1' 9¾" 63 5/8" 189" 426 95

5' x 12' 3' 36½" 2' 21¾" 63 5/8" 189" 426 399

5' x 12' 3' 36½" 3' 33¾ 63 5/8" 189" 426 408

12' Four Face

1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

Drawn Date

Drawing No.

Sheet    of

Nevco, Inc.
 Greenville, Illinois 62246

Rev

Last ECO

Notes:
1.  Dimension "C" does not include rubber feet 
     (adds approximately 2¼")
2.  Dimensions shown may vary slightly due to 
     assembly variation.
3.  Corner trim removed for clarity.
4.  Add weights for signs or message centers to
     above frame/trim weight for total weights.
5.  Weight of center section found on sheet 1

Four Face Installation
Upper and Lower

Sections
Standard Scoreboards

BRS 6/23/2015 4     15 

Dwg-0748

Dim "C"

Dim "E"

Dim "D"

Dim "F"

1661
4 in



Size of 

Scoreboard

Lower 

Cabinet 

Size

Dim "C"
Upper Cabinet 

Size
Dim "D" Dim "E" Dim "F"

Lower 

Frame/Trim 

Weight

Upper 

Frame/Trim 

Weight

7' x 8' n/a n/a 1' 10" 86 7/8" 150 7/8" n/a 180

7' x 8' n/a n/a 2' 22" 86 7/8" 150 7/8" n/a 400

7' x 8' n/a n/a 3' 34" 86 7/8" 150 7/8" n/a 416

7' x 8' 1' 12 5/8" n/a n/a 86 7/8" 150 7/8" 346 n/a

7' x 8' 1' 12 5/8" 1' 10" 86 7/8" 150 7/8" 346 180

7' x 8' 1' 12 5/8" 2' 22" 86 7/8" 150 7/8" 346 400

7' x 8' 1' 12 5/8" 3' 34" 86 7/8" 150 7/8" 346 416

7' x 8' 2' 24 5/8" n/a n/a 86 7/8" 150 7/8" 350 n/a

7' x 8' 2' 24 5/8" 1' 10" 86 7/8" 150 7/8" 350 180

7' x 8' 2' 24 5/8" 2' 22" 86 7/8" 150 7/8" 350 400

7' x 8' 2' 24 5/8" 3' 34" 86 7/8" 150 7/8" 350 416

7' x 8' 3' 36 5/8" n/a n/a 86 7/8" 150 7/8" 354 n/a

7' x 8' 3' 36 5/8" 1' 10" 86 7/8" 150 7/8" 354 180

7' x 8' 3' 36 5/8" 2' 22" 86 7/8" 150 7/8" 354 400

7' x 8' 3' 36 5/8" 3' 34" 86 7/8" 150 7/8" 354 416

Size of 

Scoreboard

Lower 

Cabinet 

Size

Dim "C"
Upper Cabinet 

Size
Dim "D" Dim "E" Dim "F"

Lower 

Frame/Trim 

Weight

Upper 

Frame/Trim 

Weight

6' x 8' n/a n/a 1' 10" 74 7/8" 145¾" n/a 160

6' x 8' n/a n/a 2' 22" 74 7/8" 145¾" n/a 380

6' x 8' n/a n/a 3' 34" 74 7/8" 145¾" n/a 396

6' x 8' 1' 12 5/8" n/a n/a 74 7/8" 145¾" 346 n/a

6' x 8' 1' 12 5/8" 1' 10" 74 7/8" 145¾" 346 160

6' x 8' 1' 12 5/8" 2' 22" 74 7/8" 145¾" 346 380

6' x 8' 1' 12 5/8" 3' 34" 74 7/8" 145¾" 346 396

6' x 8' 2' 24 5/8" n/a n/a 74 7/8" 145¾" 350 n/a

6' x 8' 2' 24 5/8" 1' 10" 74 7/8" 145¾" 350 160

6' x 8' 2' 24 5/8" 2' 22" 74 7/8" 145¾" 350 380

6' x 8' 2' 24 5/8" 3' 34" 74 7/8" 145¾" 350 396

6' x 8' 3' 36 5/8" n/a n/a 74 7/8" 145¾" 354 n/a

6' x 8' 3' 36 5/8" 1' 10" 74 7/8" 145¾" 354 160

6' x 8' 3' 36 5/8" 2' 22" 74 7/8" 145¾" 354 380

6' x 8' 3' 36 5/8" 3' 34" 74 7/8" 145¾" 354 396

8' wide by 7' tall Hybrid Four Face

8' wide by 6' tall Hybrid Four Face

1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

Drawn Date

Drawing No.

Sheet    of

Nevco, Inc.
 Greenville, Illinois 62246

Rev

Last ECO

1183
4 in

Dim "C"

Dim "E"

Dim "D"

Dim "F"

Four Face Installation
Upper and Lower

Sections
Standard Scoreboards

BRS 6/23/2015

Dwg-0748

5     15 

Notes:
1.  Dimension "C" does not include rubber feet 
     (adds approximately 2¼")
2.  Dimensions shown may vary slightly due to 
     assembly variation.
3.  Corner trim removed for clarity.
4.  Add weights for signs or message centers to
     above frame/trim weight for total weights.
5.  Weight of center section found on sheet 1



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

Drawn Date

Drawing No.

Sheet    of

Nevco, Inc.
 Greenville, Illinois 62246

Rev

Last ECO

Frame Assembly Instructions

Note orientation of horizontal rails

3/8 by 1 1/4 
bolts, nuts, washers
(supplied by Nevco)

Laterals for lower section 
differ from laterals on main
4-face section.

Install bottom brackets 
here for all installations.

Top bracket shown mounted
in 3' tall message center location.
Lower sets of holes are used for 
2' and 1' message centers/signs.

1' tall message center/
sign mounting clip location

2' tall message center/
sign mounting clip location

3' tall message center/
sign mounting clip location

Figure 1

Brackets attach using
½" bolts, nuts, and
washers supplied by
Nevco (two each bracket)

Notice orientation
of brackets

Attach foot assembly
to bottom of post

Figure 2

Four Face Installation
Upper and Lower

Sections
Standard Scoreboards

BRS 6/23/2015 6     
15 

Dwg-0748

Lower cabinet installation section

Installation Instructions.
1.  Find corner posts, rubber feet, and corner mounting clips.
2.  Install rubber feet with bolt in bottom of all four corners.
3.  Install corner mounting clips as shown.  Use 1/2" by 4"
     bolts with washers and nuts supplied by Nevco.
4.  Install laterals to corner clips using 3/8 bolts with
     washers and nuts supplied by Nevco.
5.  Check the frame to make sure that it is square and level.
6.  Install message centers or signs to laterals.   
     Bolt through rail into bolt locations on back of cabinet.
7.  Before lifting, make sure all bolts are installed properly.

Bottom section attaches
to center section of four
face using ½" bolts, washers
and nuts using these holes



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

Drawn Date

Drawing No.

Sheet    of

Nevco, Inc.
 Greenville, Illinois 62246

Rev

Last ECO

Mounting Signs 
with Flanges

BRS 6/23/2015 7       
15 

241-0285

Front of sign

Install sign to lateral
using 3/8" bolts, nuts,
and washers supplied
by Nevco

Attach sign to lateral using
these holes (it will be necessary
to drill through the bottom 
flanges of the sign for bolt)

Use instructions on sheet 5
to build frame before attaching
signs

Dwg-0748

Four Face Installation
Upper and Lower

Sections
Standard Scoreboards

Lower cabinet installation section



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

Drawn Date

Drawing No.

Sheet    of

Nevco, Inc.
 Greenville, Illinois 62246

Rev

Last ECO

Four Face Installation
Upper and Lower

Sections
Standard Scoreboards

BRS 6/23/2015 8       
15 

Dwg-0748

Lower cabinet installation section

If message center or
sign is mounted below
a hybrid center section
use these spacers
provided by Nevco (four
per side)

Attach message center
to laterals using bolts
provided by Nevco (top
and bottom of message
center)

Use instructions on sheet 5
to build frame before attaching
signs



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

Drawn Date

Drawing No.

Sheet    of

Nevco, Inc.
 Greenville, Illinois 62246

Rev

Last ECO

BRS 9     15 

Dwg-0748

6/23/2015

--

Center section corner braces are
removed for clarity.  When installing
upper section, make sure those braces
are bolted to the bottom side of the
top center section lateral so they do
not interfere with upper section parts.

Notes:
1.  All bolts, nuts, and washers required to assemble framework and
     mount signs or message centers are supplied by Nevco
2.  The upper section framework is installed on the center section
     frame after it is completely assembled.  

Upper section does not interfere
with the cables, etc. used to suspend
the completed assembly.

Upper cabinet installation section
This Section covers 2' and 3' tall upper cabinets

Four Face Installation
Upper and Lower

Sections
Standard Scoreboards

Sequenced instructions follow.  Be sure
to follow good safety practices and make
sure all bolts are tight before lifting.



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

Drawn Date

Drawing No.

Sheet    of

Nevco, Inc.
 Greenville, Illinois 62246

Rev

Last ECO

BRS 6/23/2015 10      
15 

Dwg-0748

Step One.  Assemble frame
(two horizontal pieces and two
vertical pieces) using 3/8 bolts,
nuts and washers.  

Step Two.  Attach offset brackets to top
lateral of center section using 3/8 bolts,
nuts and washers.

Offset bracket

Back edge of bracket
will be close to back
edge of lateral when
installed 

Step Three.  Attach completed frame
to offset brackets using 3/8 bolts, nuts
and washers

Corner braces attach to
frame at these holes

Make sure bolts and nuts are tight 
before attaching signs or message
centers

Upper cabinet installation section
This Section covers 2' and 3' tall upper cabinets

Four Face Installation
Upper and Lower

Sections
Standard Scoreboards



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

Drawn Date

Drawing No.

Sheet    of

Nevco, Inc.
 Greenville, Illinois 62246

Rev

Last ECO

BRS 6/23/2015 11      15 

Dwg-0748

Use 3/8 bolts to attach 
message center.

20mm Message Center 
bolts here

16mm Message Center
bolts here

Flanged sign
bolts here (use
3/8 bolts, nuts
and washers

20mm Message Center
bolts here

16mm Message Center
bolts here

Flanged sign
bolts here (use
3/8 bolts, nuts
and washers - 
some drilling of
flange may be
required)

Make sure corner braces
are installed and frame is
stable before attaching
message centers or signs

Four Face Installation
Upper and Lower

Sections
Standard Scoreboards

Upper cabinet installation section
This Section covers 2' and 3' tall upper cabinets



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

Drawn Date

Drawing No.

Sheet    of

Nevco, Inc.
 Greenville, Illinois 62246

Rev

Last ECO

BRS 6/23/2015 12     15 

Dwg-0748

Step Six.  Attach trim pieces

Attach large section to face of 
message center with approx
one inch overlap Attach small section to

face of other message 
center behind the large
section.  

After sections are aligned
with each other and attached to
faces of message center, use
drill screws to attach pieces
together

Install lateral trim pieces first
using drill scews

Four Face Installation
Upper and Lower

Sections
Standard Scoreboards

Upper cabinet installation section
This Section covers 2' and 3' tall upper cabinets



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

Drawn Date

Drawing No.

Sheet    of

Nevco, Inc.
 Greenville, Illinois 62246

Rev

Last ECO

G

Upper cabinet installation section
This Section covers 1' tall upper cabinets

Four Face Installation
Upper and Lower

Sections
Standard Scoreboards

BRS 6/23/2015

Dwg-0748

13      15 

Mounting bracket
(16 per four face)

Cabinet brace
(8 per four face)

Detail A

Sequenced instructions follow.  Be sure
to follow good safety practices and make
sure all bolts are tight before lifting.

Upper sections are installed
after center section is complete.

Spacers bolt to top
lateral of center section
using bolts, washers,
and nuts provided by 
Nevco



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

Drawn Date

Drawing No.

Sheet    of

Nevco, Inc.
 Greenville, Illinois 62246

Rev

Last ECO

B

Four Face Installation
Upper and Lower

Sections
Standard Scoreboards

BRS 6/23/2015

Dwg-0748

14       15 

Attach mounting brackets
to back of message center
using bolts provided by Nevco

Detail B

Mount bracket to
top of spacer using
3/8 bolt, washer
and nut provided by 
Nevco

Signs will mount using
these holes (bottom of
sign flange will be drilled
onsite)

Upper cabinet installation section
This Section covers 1' tall upper cabinets

Step One.  Install brackets
to back of sign/message center

Step Two.  Attach spacer
to bracket using 3/8 bolt,
washer and nut supplied
by Nevco



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

Drawn Date

Drawing No.

Sheet    of

Nevco, Inc.
 Greenville, Illinois 62246

Rev

Last ECO

Upper cabinet installation section
This Section covers 1' tall upper cabinets

Four Face Installation
Upper and Lower

Sections
Standard Scoreboards

BRS 6/23/2015

Dwg-0748

15      15 

Step Three.  Install cabinet
on top of center section frame

Attach to top lateral
using 3/8" bolt, washers
and nuts supplied by
Nevco

Install supports using
3/8" bolts, washers,
and nuts supplied by
Nevco.  Extra washers
may be required for
proper fit.

113
16 in

Target dimension

Face of cabinet should be
plumb and flush with upper 
edge of scoreboard

See sheet 11 for trim mounting instructions

Drill through
horizontal support
and attach with
3/8 bolt, washers 
and nut supplied
by Nevco


